. Discuss the measurements and reasons of Poverty

in India.

IRA § T & AIUGUE] SR HRON i T= RIS |

. What do you understand by Energy Crisis ?
Discuss the role of Renewable Energy in India to
solve the problem of Energy Crisis.

S T § Y R THLd § 7 UG H Holl He &
T § T s w g w1 e wiR

. Discuss the problems of small scale industries in
India.

YR H oY I SN Bl THET DI T HIfeT |

. Critically evaluate the role of Multinational

Companies in Economic development of India.

IRA & N fohma § Sgusd wmfE w gfae

N M [aWa
hl ARIEAIHS HTIIhT RIS |

. What are the main reasons to increase the Public

Expenditure in India ? Explain the trends of Public
Expenditure.

IRd B A =g § gfg & THE RO & T 2
HrEsieh & &I YAl s T Hife |
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Note .— The question paper is divided into two Sections
A and B. Write answers as per the given
instructions.

et - w® ywA-m ‘1’ SR ‘e ) mel # fawfsa ¥ wee
TUE & FRIgER I9 & W

Section-A 8x2=16
(Very Short Answer Type Questions)

Note .— Answer all questions. As per the nature of the
question delimit your answer in one word, one
sentence or maximum up to 30 words. Each
question carries 2 marks.
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QUE—37
(atfr g S 99)

Fdor - Tt gl & SR NI o T SW A YIAER
TH V5, UH A A1 sifead 30 vl W ufEifa

I.

FIT | FAF T 2 AHI HT T

Give answer of the following questions :

frefafea o= & SWw s :

(1) Define the Inclusive Development.
weurlt foem =i aRfea wifw)

(i) What do you understand by Human Capital ?
AEE it ¥ o9 F GHE ¥ 2

(iii) What do vyou wunderstand by Capital
Accumulation ?

Yot T=m ¥ o9 = gEed ¥ 2
(iv) What is Golden Age according to Joan
Robinson ?

St Ufeed & STAR @l T F § 2

(v) What is Public Private Partnership (PPP) ?
grasite-frsit arfieRt (PPP) &1 ¥ ?

(vi) Define the Minimum Market Access.

AT SR UgH i IR i |

MAEC-06 / 480 / 4 (2)
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(vii) What do you understand by BOP ?
steid. | o F gea § 2
(viii) What is SEZ ?
THIdE | T ?
Section-B
(Short Answer Type Questions)

Note .— Answer any four questions. Each answer should not
exceed 200 words. Each question carries 16 marks.

gus—a
(g T q99)

fdor .- Tl 9/ 9vAl & S SfSN) 9 o1 S &
AfereRae 200 gt W 9REfH wifSwl s 99A

16 31 &1 B

. Discuss the various measurement of Economic

Development.

anferer fasra 1 fafis wrdi =1 == wifsw)

. Discuss the strategy of Mahalnobis Model of

Economic Development in Indian Planning.

WA FrEem § snfeer faerg & Aeemifed Aed &
oG Y ==l FifSe

. Explain the Endogenous growth model of Romer

and Lucas.
YR X THE & FA<qenad gig & Hied H TR
ST |

4x16=64
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